
8 B06  I  BASORFIX  

BA
SO

RF
IX 

41/82

KA41
Qreac Pap GC i304 i316

 kg N·m REF. kg/ud REF. kg/ud REF. kg/ud
KA41 1000 40 2/6475 0,82 2/18086 0,81 2/18105 0,81

2 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316)) + 2 x TM41 M10 (2/17584-GC / 

2/18525-I304 / 2/17612-I316)

2/50 x B3 (2/8827 -GC / 2/12096-I304 / 2/15575-I316))

18015

45

47

12

97

25X11

25X11

M10X20

57

43

3
 Qreac

4182CR
GC i304 i316

REF. kg/ud REF. kg/ud REF. kg/ud
4182CR 2/6473 0,56 2/18088 0,55 2/18107 0,55

5 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316)) + 5 x TM41 M10 (2/17584-GC / 

2/18525-I304 / 2/17612-I316)
5/50 x B3 (2/8827-GC / 2/12096-I304 / 2/15575-
I316)

12

19,5

22

141

14
1

45

4

Eje y

Eje Z

SB41
Qreac Pap GC i304 i316

kg N·m REF. kg/ud REF. kg/ud REF. kg/ud
SB41 700 40 2/6471 0,51 2/18087 0,50 2/18106 0,50

2 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316)) + 2 x TM41 M10 (2/17584-GC / 

2/18525-I304 / 2/17612-I316)

2/50 x B3 (2/8827 -GC / 2/12096-I304 / 2/15575-I316))

 
4

10
4

4025
50

25X11

4

132

44

85

46

21

20

25X11

21

25X11

Qreac

BASORFIX




